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istn.kabel teletech. ø20 Ro=198,91

istn.kabel teletech.ø20 Ro=198,90

Rura ochronna stal 273,1x6,3 L= 137m

istn. kabel teletech.  ø20  Ro=197,15
istn. kabel teletech.  ø20  Ro=197,15
istn. kabel energ. NN  ø20  Ro=197,15
istn. wod.  ø160  Ro=196,35

Rura ochronna stal 273,1x6,3 L= 43m

istn. kabel teletech.  ø20  Ro=197,15

proj. kan. san.  ø160  Rd=195,37
S6391 - S639

istn. wod.  ø90  Ro=194,71

istn. kabel energ. NN  ø20  Ro=195,47Rura ochronna stal 219x6,3 L= 12m

proj. kan. san.  ø200  Rd=194,00
S635 - S634

proj. kan. san.  ø200  Rd=193,69
S633 - S631

proj. kan. san.  ø200  Rd=192,85
S621 - S620

proj. kan. san.  ø200  Rd=192,39
S640 - S600

Rura ochronna stal219,1x5 L=85 m

istn. kabel energ. NN  ø20  Ro=195,16

istn. wod.  ø110  Ro=194,40


